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Minute 3

 1. 2(5 + 8) =

 2. Rewrite 4 • 4 • 6 • 4 • 4 • 6 using exponents. __________

 3.  
3(4 + 2)
9

=

 4. Brad thinks that 2 • 2 • 2 • 2 is represented by 42. 
  What is wrong with this answer? ______________________________

 5. 3.2 × 103 =

 6. If a = 2 and b = 3, then what does ab2 equal? __________

 7. 0.043 × 103 =

 8. A mouse has 14 whiskers.  
  How many whiskers do 3 mice have? __________ 

 9. 5 + (9)(6) – 4 =

 10. Which of these operations should be completed 
  last when solving an equation?
   a. ×   b. +    c. ( )   d. ÷
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